
Problem Set 4.1

Let

A =

[
4 10
−1 π

]
,B =

[
2 8√
2 sin 1

]
,C =

[
2 0
1 6

]
,D =

1 2 3
0 −1 0
3 6 9

 ,E =

−3 −4 7
−9 16 6
2π 3 −10


,

v1 =

[
1
−1

]
,v2 =

[
100
−1

]
,v3 =

[
1016
−4

]
,v4 =

 4
−4
17

 ,v5 =

 1
14
3


1. Calculate determinants of matrices A,B,C,D,E.

Solve the following linear system of equations, using elimination method.

2.

AX = v2

3.

BX = v3

4.

Cx = v1

5.

Dx = v4

6.

Dx = v5

7.

Ex = v5

8. Find eigenvalues and corresponding eigenvectors of matrices A,B,C,D.
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